CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY
(HINGLISH)

FAMILIES OF CARBON COMPOUNDS:
FUNCTIONAL GROUPS AND
INTERMOLECULAR FORCES

Solved Problem


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Compare the dipole moments of water and

ammonia.

° View Text Solution

2. Explain why cis-1.2-dichloroethene (Table 2.1)
has a large dipole moment whereas trans-1.2-
dichloro. ethene has a dipole moment equal to

zZero.

o View Text Solution



https://dl.doubtnut.com/l/_CLPCfUkPYI9n
https://dl.doubtnut.com/l/_A9RUQtP1Xyob
https://dl.doubtnut.com/l/_xgUSme7npRwk

3. Write bond-line structural formulas for (a)
two primary (b)CH3CHCH,C Hjalcohols, a
secondary alcohol, and (e) a tertiary alcohol -

all having the molecular formula CyH17O

o View Text Solution

4. One way of naming amines is to name in
alphabetical order the alkyl groups attached
to the nitrogen atom, using the prefixes di-
and tri- if the groups are the same. An example

is isopropylamine whose formula is shown


https://dl.doubtnut.com/l/_xgUSme7npRwk
https://dl.doubtnut.com/l/_CIofNQ344e8A

above. What are names for (a), (b), (c), and (d)?

H .
| NMe.
(c) Orhwc (d) O/

o View Text Solution

5. When formic acid donates the proton from
its oxygen to a base, a formate ion is the
result. Write another resonance structure for
formic acid and for the formate ion. Which
species, formic acid or the formate ion, would

be most stabilized by resonance?

| = 1


https://dl.doubtnut.com/l/_CIofNQ344e8A
https://dl.doubtnut.com/l/_yxVWfN616Gkl

l &J View Text Solution I

6. Arrange the following compounds according
to their expected boiling points, with the
lowest boiling point first, and explain your
answer. Notice that the compounds have

similar molecular weights.

- o~

o 0 g N - T/’ e e
Ol

Diethyl ether  sec-Butyl alcohol Pentune

o View Text Solution



https://dl.doubtnut.com/l/_yxVWfN616Gkl
https://dl.doubtnut.com/l/_1YApwr4Id8O6

7. Compare the dipole moments of water and

ammonia.

° View Text Solution

8. Explain why cis-1.2-dichloroethene (Table 2.1)
has a large dipole moment whereas trans-1.2-
dichloro. ethene has a dipole moment equal to

zZero.

o View Text Solution



https://dl.doubtnut.com/l/_P7Wtv2JbgCnc
https://dl.doubtnut.com/l/_FpFLlSPnwHwq
https://dl.doubtnut.com/l/_zOjT6uOCOXLL

9. Write bond-line structural formulas for (a)
two primary (b)CH3CHCH,CHjalcohols, a
secondary alcohol, and (e) a tertiary alcohol -

all having the molecular formula CyH17O

o View Text Solution

10. One way of naming amines is to name in
alphabetical order the alkyl groups attached
to the nitrogen atom, using the prefixes di-
and tri- if the groups are the same. An example

is isopropylamine whose formula is shown


https://dl.doubtnut.com/l/_zOjT6uOCOXLL
https://dl.doubtnut.com/l/_2CWyPQXQ7ZFK

above. What are names for (a), (b), (c), and (d)?

H .
| NMe.
(c) Orhwc (d) O/

o View Text Solution

11. When formic acid donates the proton from
its oxygen to a base, a formate ion is the
result. Write another resonance structure for
formic acid and for the formate ion. Which
species, formic acid or the formate ion, would

be most stabilized by resonance?

| = 1


https://dl.doubtnut.com/l/_2CWyPQXQ7ZFK
https://dl.doubtnut.com/l/_YyBrBV7q2rTN

l &J View Text Solution I

12. Arrange the following compounds
according to their expected boiling points,
with the lowest boiling point first, and explain
your answer. Notice that the compounds have

similar molecular weights.

- o~

o 0 g N - T/’ e e
Ol

Diethyl ether  sec-Butyl alcohol Pentune

o View Text Solution



https://dl.doubtnut.com/l/_YyBrBV7q2rTN
https://dl.doubtnut.com/l/_jK2Y9OHToZ5L

Additional Objective Questions Single Correct

Choice Type

1. Which of the following structures represent

the same compound?

H.C—CH,
(N n:J“:u—cﬂl
{:Hl—cu;-:j:u
i,
(1) H,C—CH—CH,—CH —CH, —CH,
o,
() H,C—~CH—CH—CH.—Cll,
CH, on,
.

A. (1) and (Il)


https://dl.doubtnut.com/l/_elxeWw2KDD0d

B. (1) and (llI)

C. (1) and (l11)

D. All are same

Answer: C

o View Text Solution

2. How many types of functional groups are

present in the given compound?


https://dl.doubtnut.com/l/_elxeWw2KDD0d
https://dl.doubtnut.com/l/_rd9JiQzE8DhO

CH,
0

° View Text Solution

3. The correct order of the solubility of the

different alcohols in water is

o View Text Solution



https://dl.doubtnut.com/l/_rd9JiQzE8DhO
https://dl.doubtnut.com/l/_si5AlB4DbrBd

4. The functional groups in cortisone are

HOH,C

o View Text Solution

5. Which of the following alkanes will have the

lowest biling point ?

A


https://dl.doubtnut.com/l/_N8wqa8TzO5oV
https://dl.doubtnut.com/l/_nnYmqQYRgo0f

B.
C.
P
D.
Answer: C

o View Text Solution

6. Number of secondary carbon atoms present

in the given compounds is respectively:


https://dl.doubtnut.com/l/_nnYmqQYRgo0f
https://dl.doubtnut.com/l/_VG5vTDrmNrSf

clestion

° View Text Solution

7. Which of the following has the greatest

dipole moment?

o View Text Solution

8. Number of functional groups in the given

compound is


https://dl.doubtnut.com/l/_VG5vTDrmNrSf
https://dl.doubtnut.com/l/_ukDzxIga9QMf
https://dl.doubtnut.com/l/_cE0AbiOJjFv1

{4@’@""\/‘%/\j\/\‘!'/m_'I'l

o View Text Solution

9. Which of the following structures represent

the same compound?


https://dl.doubtnut.com/l/_cE0AbiOJjFv1
https://dl.doubtnut.com/l/_VnrSII89qgAl

H.C—CH,
(T CH—CH,
EH_‘—CH_,—F(lZH
rl*H,
(I H,C—CH—CH,—CH —CH, —CH,
r.'l_‘H, .:lruJ
(1) H,C~CH—CH—CH,—Cll,
CH, CH,

|
CH,

A. (1) and (I)
B. (I1) and (Il1)
C. (1) and (1)

D. All are same


https://dl.doubtnut.com/l/_VnrSII89qgAl

Answer: C

o View Text Solution

10. How many types of functional groups are

present in the given compound?

CH,
0

() i,

o View Text Solution



https://dl.doubtnut.com/l/_VnrSII89qgAl
https://dl.doubtnut.com/l/_U7knTA0ke1Nj
https://dl.doubtnut.com/l/_wX8A5AKRyW8Q

11. The correct order of the solubility of the

different alcohols in water is

o View Text Solution

12. The functional groups in cortisone are

HOH,C

° View Text Solution



https://dl.doubtnut.com/l/_wX8A5AKRyW8Q
https://dl.doubtnut.com/l/_eVUq32nWx4Wy
https://dl.doubtnut.com/l/_pMGZXOjbgMCc

13. Which of the following alkanes will have the

lowest biling point ?

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_pMGZXOjbgMCc
https://dl.doubtnut.com/l/_85dmuJUR28nb

14. Number of secondary carbon atoms
present in the given compounds is

respectively:
CH, O/CH.
' and
O QL. =0

o View Text Solution

15. Which of the following has the greatest

dipole moment?

o View Text Solution



https://dl.doubtnut.com/l/_85dmuJUR28nb
https://dl.doubtnut.com/l/_jwEQuI74IzQv

16. Number of functional groups in the given

compound is
M/\)\/TQ—H

° View Text Solution

Additional Objective Questions Integer Type


https://dl.doubtnut.com/l/_RClFljaxwrL3

NH o
/?\HH%,% A )& _OH
1. o oocu,

Sum of total number of functional groups

present in the given compound is

o View Text Solution

2. How many 2° carbon are present in the

following compound?


https://dl.doubtnut.com/l/_td29qf45RsyD
https://dl.doubtnut.com/l/_ZwnG9aank4PY

° View Text Solution

PSS

3, @ > ocu, °

Sum of total number of functional groups

-"-"'\-\. a

present in the given compound is

o View Text Solution



https://dl.doubtnut.com/l/_ZwnG9aank4PY
https://dl.doubtnut.com/l/_IklAx514QtCZ

4. How many 2° carbon are present in the

following compound?

<5

° View Text Solution

Additional Objective Questions Matrix Match

Type



https://dl.doubtnut.com/l/_IklAx514QtCZ
https://dl.doubtnut.com/l/_rK1OQvAT3FN3
https://dl.doubtnut.com/l/_VZaLXZpp8ps4

Column | (Compound) Column [l (Type)

NH
ia) ip) 17 Amine

H
P
ib) H MPO iq) I Aminc
1.
,f’_“‘-‘w"‘"“‘-,m,-’"
(c) | ir) 3" Amine
H
id)
]I{ NH,
is) 1" Carbon
Me
™
|
F1

ity T Carbon

° View Text Solution



https://dl.doubtnut.com/l/_VZaLXZpp8ps4

2.

Coluomn-1 Column-11

(#) HC—CH=CH—CH, (p)} Dupole (cis > rrans)
b) HC—CH=CH—CN (g} Dwpole (trans = ci5)

{e) HCO—CH=CH-—Cl ir) Melung pownt
(trans > cix)

(d) Ol—CH=CH—Cl (s) Boiling pownl (cws > trans)

° View Text Solution



https://dl.doubtnut.com/l/_cH2FO30HKW7c

Column | (Compound) Column Il (Type)

NH
(a) ip) 1" Aming

H
P
(b) H ‘*O (q) " Amine
3.
TN N
(ch | | ir) 3 Amine
H
id)
0 NH,
is) 1" Carbon
Me
N

ity X Carbon

O View Text Solution



https://dl.doubtnut.com/l/_esnKyCxs7UNU
https://dl.doubtnut.com/l/_RyM3J186Oa2x

Column-1 Colomn-11

(w) HO—CH=CH—CH, (p) Dwpole (cis > rans)
i) HC—CH=CH—CN  (q} Dipole (rrans > cix)

fe) HC—CH=CH-—C {r) Melung pomnt
(trans > cix)

(dy C1—CH=CH—-C (s} Boiling pownt (cts > trans)

4.

° View Text Solution



https://dl.doubtnut.com/l/_RyM3J186Oa2x

